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SSC CPO SI MOCK TEST - 07 (SOLUTION)

1. ([B) 17. (C) 5 16 51 158 481
2. (D) Lea+n) PLx3+3) P x3+5) P x3+7) 4
3. (4 F : 216 :: L : 1728 |18.(B) 9x2=18 9 x5=45
g3 85 o
ol &g 9x9=281 9x6=>54
6 —0° ’ 12 (12 ’ 19. (C) Priti > Rahul > Yamuna = Divya > Manju
> Lokita
4. () +1 +1 20. (A) Man Wife Sister-in-law
+1 +1
MOUSE : KPSTC :: LIGHT : JJEIR l l
2] N [-2] uN .
Iﬁ |£ Son Cousin > Son
-2 -2 21. (D) 24+16-8=32
5. (A) 264+2 = 132 = 1+3+2=6and 40-8=32
870+3 = 290 = 2+9+0=11 32 = 32 (correct)
Similarly, 22 () pehy Brother o eSSt oty
735+5 = 147 = 1+4+7=12 & %,
7] 30,5( Son
6. (A) Requirements Analysis . A .
Maruti(+) Sita-) Sunil (+)
3 Cousin
Conceptual Modelling Logical Modelling Maruti is the son of Simaran and Sunil
2 4 is the son of Simran's brother/sister
] ) keshav.So,Sunil will be cousin of
Scheme Refinement Physical Model Maruti.
6 5 23. (D) MASTER
Imol tati 24. (A) NATION
mpementation 25. (B) TALENT
1 26 (C) place value
7. (A) baa/bbbb/aabb/ b ’ v
8. (D) abcabbcabcaabcach A = 1x2=2
9. (C) B = 2x2=4
: LA
10. (D) Except option (D) all diseases are related place value
to lock of vitamins Similarly,
11 (D) L = 12x2=24
LA
12. (D) (A) 563 - 547 = 16 place value
(B)71-55=16 A = 1x2=2
- |
(C) 523 -517=6 place vahue
13. D) 10 = 1+0=1 = (1) e o——
place value
= 2
13=1+3=4= (2) Y = 25x2=50
234 = 2+3+4=9 = (3)? L4
place value
682 [681|= 6+8+2=16 = (4)? So, LADY =24 +2+ 8+ 50 = 84
997 - 0+9+7=25 = (5 27.(©) lLf j lD T II
14. (B) i% ,+—:\i' [% ,% placevalue 12 5 1 4 5 18
AFI JOR MRU HMP %%%%%%
1 12 1
5 R R S Similariy.
15. (A) bc cde de efg fg ghi L I GH T
16. (B +2 +2 +2 +2 +2
® | Vi U W Vi v ‘L ‘L ‘l' ‘l' ‘L
Cc-3 E5 G-7 19 K-11 M-13 placevalue 12 9 7 8 20
L2 20 17 15 16 28

w2 N2NeoeN wb 18 18 48 48 48

N
2
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28.

29.

30.

31.

32.

33.

34.

35

(D)

TU U U U2

U

SRR U = U [

(D)

According to question the new form of
COMMUNICATIONS will be -

OCMMMNUCI TAOISN
10" letter from right .

8§x20+5+9-3=38
8x4+9-3=38
32+9-3=38
41-3=38

38 = 38 (correct)
33*11+3-6=115

3311 _6_115
3

11x11-6=115
121-6=115

115 =115 (correct)
15+24+3-6=17
15+8-6=17

23-6=17

17 = 17 (correct)

(14+2)x 12 = 84
(18+2)x9= 81

Similarly,

(x+2)x11= 88

or (88 +11)x2

or8x2=16

3x4x5=60 = 60-2 = 58
5x6x2=60 = 60-2 = 58
8x4x2=64 = 64-2 = 62
Similarly,

7x6x3=126 = 126-2 = 124

4x9=36 = ,J36=6

3 x27=81=,81=9

Similarly,

V2xx =10
or,2 xx=10x 10
or, 2x= 100
. x=100+2=350

36.
O

37.
38.

39.
44.
49.
50.

101.

102.

103

104.

Ph: 09555108888,

(D)
(D)

(D)
(D)
(B)
(©)

D)

©)

-(B)

D)

099555208888

3 km

OF = OA-FA

[Here, FA = BC+DE = 2 + 1=3 km)]
=8 km - 3 km
=5 km

decades

Conclusions : I. x

II. v
III. x

40. (D) 41. (D) 42. (D) 43. (C)
45. (A) 46. (D) 47. (D) 48. (A)

The numerical groups of BEST will be -
B- 00, 12, 24, 31, 43

E-03, 10, 22, 34, 41

S - 58, 65, 77, 89, 96

T - 59, 66, 78, 85, 97

V400 ++/4 +0.04 +%/0.008

20+2+0.2+02=224

1
x+—=4
X

1 1
il Z\ = (4)\3

X g3 (et )= (4
1

P +—5=64-12=52
X

Let the numbers are a and b

i

& Lsl1a=7b-()

b 11

at+7 2
=223a=21=2b+14 (I

bt7 3 0 (D

a =49 and b = 77 after solving (1) and (2)
136 is also divisible by 17 so remainder
36 is when divided by 17 leaves the
Remainder (2).
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105. (C)

106. B)

107. (A)

108. (C)

109. (B)

110. (C)
=

111.(A)
112. (A)

113.(A)
- 5 5
N _
x5 =
114. (D)
3\1, sY (1)
(X 5 ] 5 3 =(X5 ] -
115. (D)
=) (=L | (=2 L
5 6 7 100 -
99
X=X~ —.
100
4 1
100 25
=
1+ 1 + L + L
ST gy
N 116. (C)
1) 1- (] 1oL n
2 o 2(27-1)
S U | 27 117.(8)
2 2 =
|
S =T
Distance between two points = 4cm 118. (D)
Ratio = 1: 4 x10°
actual distance = 4 x 4 x 10°cm =
= 16km. -
900 = 30 x 30 -
for perfect cube = multiply by 30
summation =3 + 0 =3 =
Letn=3
(n® - n) (n - 2) 119. (B)
(3°-3)(3-2) =24 (divisible by 24)
n=4=(4%-4) (4-2) = 120 (divisible by 24)
=
Given Sequence
=
10% +20%
/\ cost price 120. (D)
100 90 «—75
N30 —75
-20% 121. (C)
2. 100 = 6g
75 3
Ph: O9555108888,

099555208888

Two Successive 30% and 10% = 37%
40% — 37% = 3% of 500

715

Difference = 210 - 122 = 88 m. in distance
difference in time = 25 - 17 = 8 Sec.

88
speed = ?=11m/s = 39.6 km/hr.

xX:y=2:5

X
5—-+3
5X+3y:y( y )

Sx -3y y(5§—3)
y

3t
r
apr= (et 559)

3t =3 x 15 =45 years.

5 3
4,11, 540 = p(l-—]

10
P = 4, 80, 000
100 __=25% , 75

25 1
To Restore = [T x 100 = 335 % increase
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122. (D)

123.(C)

124. B)

125. (B)

126. (D)

127. (A)

=

=
128. (4)

129. (B)

. 600X25% 130.(C) A+ B =28000
Reduced Price T B+ C=31200 A+ B+ C=44000
A+ C=28800
1 1 B =15200
Jx + = |x+=+2 . -
X =) - 131.(A) Age increment of 10 members in 2 years
=10 x 2 = 20 years
60246 _ > mermber s 20 years younger.
5+2:/6 '
132.(C) Total ft—ixloo
- 23 .(©) oapr01—15
Cube of 12 = 1728 5
So, 8 should be added to 1720 to obtain = —x100
a perfect cube. 5
260’ 348’ 436, 524 . 260 < 272 1
272, 348,5 24 = 33§Cy0
take = 24[,72 24[;48 24[ 24 3 22 «l
27 A3 AT = 27,375 8/22%
So, 133.(C) CI = 2400 (1+ ) —2400
3% is greatest. 100
x = 2496 - 2400
XXEZO.OOS =796
x=0.040 = 2= 0.0400 134.(A) According to the Question :-
x=0.20 . v lxl‘lxl‘lxl
x/5 = 0.04 rofit at10:>4 3°6 4 12
3 5 = 2:1:14
2
p Q R =A = —x9962=1172
§ A's share 17
from three collinear point's none Circle 135. (D) Let the distance = D km.
can be drawn Total time =t
O Ans.
D
/ ACD = 40° = t Sg e 1]
D
3 D
T\C t ===, (1)
- 3 6
A 90° B = onsolving () & (I) = t =2 hr.
D =16 km.
136.(C) Time taken by walking = 8hrs 20 mins
one way journey = 4hrs 10 mins
= Ifhe takes 4 hrs 30 mins (Riding + walking)
~/ACB =90° Riding time (one way) = 20 mins
~ BAD = 180° - 130° for both ways = 40 mins.
(by cyclic quadrilateral property) = 50° 137. (D) difference between - the profits = 5%
| 5%=10
[ ———p— 1 100% = 200
B So cost price of the article is 200.
T -2 T 2 138.(D) cost of each egg = ¥ 720 x3
box ty ' 887 % Z0x12
2D 2%y ith 20% profit = 3 + o2
= => wi o profit =
Avg Speed = DD x+y P 100
Xy =33.60
Ph: O9555108888, 09555208888 [ 4 |
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139. (B)

140. (D)

141. (D)

=

=

=
142. (D)

143.(C)

18><§% =

present cost of rice =% ——=—=9

NN
U

a®+b*+c*~3abe=(a+b+d (@2 +b*+P—ab—bc—ca)

but,a+b+c=2.3+3.2-5.5=0 144. (B)
So, a®+ b3+ c®-3abc=0
3v2,5V3, 74 and 89 =

L2 145. (D)
03 597 = LCM (7,3) =21 = 27, 2°

1 1
35 <34 = LCM (5,4) =20 = 3¢, 3°

1 1
93 <34 = LCM (3,4) = 12 = 2,3 146.(C)
So, 8[gis greater
sin?q + cosec?q = x
sin®q +1

5 (minimum value of sin q = -1)
sin“q
2
put, = T=2 So, x> 2
147. (A)

sinx sinx =4 148: (D)
1+cosx 1-cosx 149. (A)
sinx - sinx cos x + sin X + sin X cos x 150. (D)

=4

1-cos? x

Ph: 09555108888,

2.3121x -a

sin® x

. 1

sinx = = so x = 30°
V6+6+6+. ... =3
tan g =3

sec’g =1+ (3)2=10

0is the Angle of elevation :-

r=htang
)
S

h'sec «

zh?secaq tana

099555208888




£

K D Campus Pvt. Ltd

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

MEANINGS IN ALPHABETICAL ORDER

Word
Abide

Aristocracy
Autocracy
Brisk
Certitude
Condone
Democracy
Dilate
Disseminate
Fiery
Incantation
Incredible
Indifferent
Inevitable
Inquisitive
Intrusive
Oasis
Overlook
Pail
Persuade
Plutocracy
Promulgate
Publicise
Suspicious
Unsympathetic
Withhold

Meaning in English

To follow (such as rules)

System ruled by noble people
System governed by a single individual
Quick

Overconfidence/total certainty
Forgive

System ruled by people

Widen

Circulate

Producing fire

Sounds believed to have magical effect
Unbelievable

Lack of interest

Incapable of being avoided
Speculative /Curious

Annoying someone by interfering
Fertile area in arid region

Inspect

Bucket

to cause someone to do something
System governed by wealthy people
Publicity

Announce

Suspect

Unkindly

Keep back

Meaning in Hindi
ityu djudvulj.k djuk (fdl
fu;e db)

dyfur=

,dr

irhyiirth 1
fuf*prrk

eli) djuk

yidr

iy uk

10yhuk

viiu;

e={iPpkj

vio*oluh;

mnkThu

t iyl u t Id
ek

n[ky nu okyk

e#lFty d chp gfjr Hfe
thpuk

CiYVh

eukuk

/fudér

cpijécty

cpkj djuk

Ingtud

IgiuHfr u j[kuokyk
Jkduk

Ph: O9555108888, 09555203338 6 |
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SSC CPO SI MOCK TEST - 07 (ANSWER KEY)

1. (B) 26. (C) 51. (A) 76. (A) 101. (D) 126. (D) 151. (C) 176. (C)
2. D) 27. (C) 52. (C) 77. (C) 102. (C) 127. (A) 152. (B) 177. (C)
3. (A) 28. (D) 53. (C) 78. (C) 103. (B) 128. (A) 153. (C) 178. (C)
4. (@] 29. (C) 54. (A 79. (A) 104. (D) 129. (B) 154. (A) 179. (B)
S. (A) 30. (B) 55. (C) 80. (C) 105. (C) 130. (C) 155. (B) 180. (C)
6. (A) 31. (A) 56. (C) 81. (C) 106. (B) 131. (A) 156. (C) 181. (D)
7. (A) 32. (D) 57. (B) 82. (D) 107. (A) 132. (C) 157. (A) 182. (B)
8. (D) 33. (D) 88. (C) 83. (O 108. (C) 133. (C) 158. (A) 183. (A)
9. ©) 34. (C) 59. (D) 84. (B) 109. (B) 134. (A) 159. (B) 184. (B)
10. (D) 35. (D) 60. (D) 85. (D) 110. (C) 135. (D) 160. (B) 185. (C)
11. (D) 36. (A) 61. (C) 86. (C) 111. (A) 136. (C) 161. (C) 186. (C)
12. (D) 37. (D) 62. (B) 87. (A) 112. (A) 137. (D) 162. (A) 187. (A)
13. (D) 38. (D) 63. (B) 88. (A) 113. (A) 138. (D) 163. (A) 188. (C)
14. (B) 39. (D) 64. (D) 89. (C) 114. (D) 139. (B) 164. (C) 189. (A)
15, (A) 40. (D) 65. (A) 90. (A) 115. (D) 140. (D) 165. (D) 190. (D)
16. (B) 41. (D) 66. (D) 91. (A) 116. (C) 141. (D) 166. (B) 191. (C)
17. (C) 42. (D) 67. (B) 92. (B) 117. (B) 142. (D) 167. (B) 192. (B)
18. (B) 43. (C) 68. (C) 93. (A) 118. (D) 143. (C) 168. (B) 193. (A)
19. (©) 44. (D) 69. (C) 94. (O 119. (B) 144. (B) 169. (B) 194. (B)
20. (A) 45. (A) 70. (B) 95. (B) 120. (D) 145. (D) 170. (C) 195. (C)
21. (D) 46. (D) 71. (B) 96. (A) 121. (C) 146. (C) 171. (D) 196. (D)
22. (A) 47. (D) 72. (C) 97. (D) 122. (D) 147. (A) 172. (C) 197. (C)
23. (D) 48. (A) 73. (A) 98. (B) 123. (C) 148. (D) 173. (A) 198. (A)
24. (A) 49. (B) 74. (B) 99. (C) 124. (B) 149. (A) 174. (D) 199. (D)
25. (B) 50. (C) 75. (A) 100. (D) 125. (B) 150. (D) 175. (B) 200. (A)
151.(C) Change 'it's'into 'its'. It'sis the contracted 157.(A) Generally if a sentence starts with
form of 'it is'. Here we need a possessive 'Past tense', it ends in past tense.
adjective 'its'. 173.(A) A sentence cannot start with 'Myself'.
152.(B) Change 'thoroughly' into 'thorough'. A reflexive pronoun can never come in
Because noun is qualified by an adjec- the place of subject.
tive and here 'thorough' is an adjective. 175.(B) We 'had/have' our meals. With meals
153.(C) Change 'buy' into 'buying'. If a preposi- 'have' and its forms are the most ap-
tion is followed by a verb, the verb must propriate verbs.
be in 'ing' form. 176.(C) Do not use 'not' with 'unless'. 'Unless'
154.(A) Remove 'sister'. Cousin sister is a and 'not' together become superfluous.
wrong word. 179.(C) An action already started and still go-
155.(B) Change 'to' into 'by'. 'Abide’ is followed ing on, comes under Present Perfect
by a fixed preposition 'by'. Continuous Tense.
156.(C) Remove 'usual'. 'Same' with 'usual

makes the sentence superfluous be-
cause both have the same meaning.

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock

Ve =)

Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

)

Ph: 09555108888,

099555208888




